2024 FERBSFFRIBE2EG—EL
SR RERSIZEEN BFESEER

—. B
IS BAADCACD

SOUGHT e ) e et =)+ fQ2x) = flaxT —dx) 1 20]+2 = flaxT =2x) 4 2 =1 L

Slax™ =2x)=—1. 5x=yv=0.7 f(0)=2. “x=l.v==1. 0/ f(-1)=0 sx=-l,v=-1
(f(=2)==-2 Sx=-2,v=-1. 1 [(-3)=—4 7~ V=y=-7 f(==)=-1. 1)
. 3 dx ] . 1
axt =2v=—=_ Iy 2u = \‘ L2100 == W 2a==-3t +dr i te|=. 1|11
2 \” X 2
2
TRTTE - 2=
2ae|l. -] ue[2 ]
Z. Bk
9. BCD 0. BC . BC 12. ABD
[2 e a”+h +ab=a+b . (Ab) < (a+b)=ub Jya, b 3. Poab >0 . N

] h)?
(a+b)y —(a+b)y>0. & ia+b>l. W yazh. ! L‘Luh<(u+))

(a+h)

> 4
o+ b))y —(a+h)< . ha+hb gy Ml<u+h<%.

. 4 ]
Il ab =(a+b) —(u+h)e(0.3). ’J\|Huh<; WA ABD.

= T
3 —; 4. (10 3) 5. -4 6 %
o st b ez e 1 2e 0 M vy Ny, o N [E ME |+ A \:‘—1'(_\-1+.\-3)—_u
‘
=\E(\}+.\'2)—2u MN 1 )y \':\/5(.\'—«) LA .\‘3—)'::u:

2 oo2an+Td =0 . L -"1*-"::3‘5“ Hoam [MN|=4a o AMNE 00 00 10h

J2
VE L CINE ] MN = da 2 MY =120 0000 a=— . 000020 =242y =

12

PR N 1 R N I R N TN T USR]



Y. WSR2

17. 10 7
oy Y2 a, i lyd il ca +dd =10 2a +16d 2
. 1 ; | 7-n i
| (1|:z. o =——. uha :3.——(”_”: ...... N
2 ! 2 2
(2) =3 (e =la =20 (e )=us]=1 ] =la,]=-2

Bo=b b tb ab b twhy, +b, =2" 4227 +2 4. +27) =23

2
Iy l|ll||=2§ ...... |“
IS, 127
YR IR (PP 3 S B AN P (N D IR T R RN DRI K IR [
44— 214y
" 1006 160X 247 100, o
J0x 60x 32x068 S|
HUUW DM 5 e = 000 o PURG S o (iAo dp il dddl 01 AN 1A
HIRVAY SRR AN P TR S A I T BT PP 5
20 WLk b L\ o 2y X LY
DTN T BS.0.8) 0 L EN =508 =4,
0 D S DRURTR IS IVI ] Pra ok
;3 , e} clol
POy shy= == 0 py =)= sy = Ay e
(. 10 C S G
3 |
VL EY = - +2x=+3x—=1.8
10 S 10
I AP TSI ) BN Y = EN 4 Y =3+ 1 8=5871 12 %
19, 127
. a smBsmC 1 o
iy 1ol . S= = —uabsinC .
cos A 2
. . . |
HWga#00 sinC 20, L asinB = ",’L’US.-I
L 4 1
NI ATI L smAsnnlfz;snnlicos;l.
L . | ) 1
Jlysim BB =0, Llsimd=—cos . tnd=—-— . s
2 2
S N NG
(20 b f',’sin.-l=£. cosd="—— . MhllcostB+C)y=-cosd =~ \/_
hl hl h)
. o G s
Cos(B + )y =cosBeosC—smBsinC . JrcosBeos(C=~—. sinfSsin (= -—
h h

DYRRVN VAl VTR I T S S I R T TR A



20.

I B

"’I'i ' .

|

(S

he a’
= ibe =45
smBsinC  sin- ‘

IR et =at + 2becos A =S 1297

’
)

WCAD I OL OB . OP l

APAD W Iy PA=PD . L OP L AD
A AOB W D)y AB =2 .4():113(_':1. ZBAD =45°. C
CLArseo s, OB =1 UL OB + AO° = ABS . OB 1 AD 1 3

INJyOP . OB 11 BOP b 7. AD L1 BOP

2y PB il BOP . it 4D L PB

794D/ BC . LLrp L Bc

N
(.

1) . PBLBC . 0 LPB =PCT - BCL, PB =3,
PO=2I2. PO +OB =9 =PB_ Ui PO LOB. W PO LNABCD .
PP b A O =g
11 A(L0.0) . B(0.1.0). C=2,1.0). D(-1.0.0). (0.0.2/2)
AB=(~110). PB=(01.-2J2). BC =(-2,0.0)

PABI 0 S m = (X ynz)

T—-' =1 -\ + -:O' L U
[ i”f m=0 1) I o im = (2\6,2\64) ‘
1I’B-m =(). 1_}'—2\/5::().

VI PBC 1L i =1x52)
BC-m=0. [-2x=0,

| . I , (= (00~ 23201y

ll’B-m =0. l_l'—?_\ﬁ::().

) <m "> m-n -9 W17
COS ’ = = = - .
|m||n] 17x3 17

. RV
i d=PB—C 1] 397 ~—-$\I/7— ...... 12

~N

WL IR A W T gl o



i g0 A2,2) Ll =2 Loop=1

E0yip i)y a°

By ) ('(.\':.'\2). vE2o o= 2y 2,

Y
2

+ =0 fouiiy e, =4

AU e
, T S R W SR
Wit Ve BC NNy = = : 2.
A 2

P2y ). CABCT N v ==2v4m (UANT =2y

Dov i v A =2m =0 A=1648m>0. v+, = -4, vy, =-2m
L o, 243 = (2-m) . 30 .
JOABC A M a1y =YY TRy BT e (VA0
h) hl
S m =2y =5 - 0.0 -I()<r<\/§, l<m <SS
/ N, +2
cAB b gy =2 = _,—(\— 2) W+ 2 =2y 2y =0
4_ B ) 4 :
S AR N I N =0 (LN +2) = .
J(\ 2) 4+ 47
L2
4_.‘
Lt T
. 4
L 4 4r
R R NI S AN ! = 0wl ey, =4 ! .
) 34— ’ 4
4"
We=2m =4 !
-
Tm =0 cm=1V26 0 =2
12
i o1 e =100 fyy=¢ =Inx. y>0.
’ 6 l ) ~'I i3
i)y =c == 0+ ) | e, L f (;)<(). (> 0.
X 2

DIV R SO i B P TR L VI



I y y
fi(tx, € (;.I). [ x ey ) /1) <0: xe(y s +x). f(x)>0

" |
/ ('\.(l):() . C‘ = —
'\.()

W) 0, x,) Pk (s o) DR ) biz Al

S, | o
17y ,/(.\],)—2:0"'~1nA\],—2:—+_\',,—2:('\” b > (). fx,)>2 e 3
Y, X

0
2 et +l-aw=Inax =0 (et v =av+Inay . vigly)=¢ 4.
Iygitv)y=c¢" +1>0. 1l g(v) L] f.
i ax +Inax =™ +Inay . g(x)=g(n(ax))
NN = a0 L CIHL et =y > 0
fray, =In(l+s)—coss+ 2. Nape™=In(l+s5)-coss+2.
VIl +s)—coss+1>0

o(s)=In(l+5)—coss ¥l s> 1.

s> 00 In(l+s)>0. —1<—coss <. Wg(s) >0 0

I .
Ti-l<s <0 @i(s) = I +sins >0,

+ N

L) (0 (=10] Fabieli. o) < ¢y =0.

Witk s>0

im(x)=c¢' —In(l+x)+cosv-2. m'(x)=c¢' - —sinx.

|+ x

Hlyx>0.0 Zpv)y=c¢' —x-1. g(x)=x-sinx. I p)=c -1>0. ¢g(x)=l-cosx20.

WL pex) © () A0+ ) | S pay >0 gx)y>0. et > v+l v >siny

Yem'(x) > 11— = SO Lm() (0, + o) T n s ibm(x) > 0 .
l+x I+

e >sIn(l+x)—cosxy+2. Mime" >In(l+s)—coss+2=c¢".

SN A0 X o I VR WY (XTI TR L TR}




 
 
    
   HistoryItem_V1
   AddMaskingTape
        
     范围:所有页面 
     遮罩座标: XY座标 461.39，3.55 宽度 126.68 高度 45.32 点 
     来源:底左  
     颜色:默认(白)  
      

        
     D:20240119152556
      

        
     1
     0
     BL
     79
     98
    
            
                
         Both
         AllDoc
              

       CurrentAVDoc
          

     461.3942 3.553 126.6774 45.3155 
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0m
     Quite Imposing Plus 4
     1
      

        
     1
     9
     8
     8eb24cc4-ab90-419c-81a2-62f51d4a0938
     9
      

   1
  

 HistoryList_V1
 qi2base





